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4,200
M e ok Gak) | A [DInE i vE i 25.500 ~ 25.700 200 (25. 6) 32. 64 30. 47 1.50| /hEF
4, 200
M e ok Gak) | B [N v i 25.700 ~ 25.900 200 (25. 8) 33.33 33. 50 1.50] /pEp [EEE X
4, 200
I e ok Gak) | A DInE v i 25.900 ~ 26.100 200 (26.0) 33.71 32. 86 1.50] /pEp [EEE X
4, 200
M e ok Gak) | B [N vE i 26.100 ~ 26.700 600 (26. 4) 34. 63 35. 23 1.50] /pEp [EEE X
4, 200
el 28 T | A [hnsEsive s 26. 870 (26. 8) 34. 90 36. 59 1.50] /0P| PE AR I s )
e o N K 4,200 JEfE 1 37,28
)| — T1EW B [ DB JFET 27. 800 (27.8) 35. 48|44 1 39.55 1.50] /hEF [ RP9E (S11)
4, 200
e 2 ok Gk | A DInEd kP 27.900 ~ 28.100 200 (28.0) 37. 86 37. 41 1.50] /)NEF
4, 200
i) e ok Gk | B DInEH kP 28.100 ~ 28.300] 200 (28.2) 38. 11 38. 38 1.50] /pEp [HEEE X
4, 200
) e KT - Bedie] A DinE i kP 28.000 ~ 28.100 100 (28.2) 38. 11 38. 38 1.50] /)NEF
4, 200
I A2 ok Gk | B DInEE T RS 30. 100 ~ 30.300 200 (30.2) 40. 99 42, 42 1.50| /hEF
4, 200
N ARk k) | A DI 30.700 ~ 30.900] 200 (30. 8) 42. 26 41. 69 1.50] /Dy |SEIRIXH
4, 200
e |2 ok Giok) | B |InEH BIR 30.700 ~ 30.900 200 (30. 8) 42.26 43. 22 1.50| /hEF
e N E R 4, 200 Lo 43,22 B
| — T/EY | B |ARE : TS 30. 700 (30.8) 42. 26|44 ¢ 41.69 1.50] /hEp |/ HH#E (S31)
4, 200
el Aok Gik) | B | INE T & 30.900 ~ 31.900| 1,000 (31.4) 42.77 43. 60 1.50| /hEF
4, 200
e |2 ok Gik) | A InEH BIR 30.900 ~ 31.100 200 (31.0) 42. 37 41.76 1.50| /hEF
4, 200
) AR BAEIEAK [ B [InsE & 31.000 ~ 32.600] 1,600 (31.8) 43. 14 44. 02 1.50] /)NEF
4, 200
e A e mimk| B | INE T & 31.000 ~ 32.600| 1,600 (31.8) 43. 14 44, 02 1.50| /hEF
4, 200
e |2 ok Giok) | B | InEH BIR 31.100 ~ 31.300 200 (31.2) 42. 44 42,67 1.50| /hEF
4, 200
) e ok Gak) | A [InE T vE EEK 31.300 ~ 32.100 800 (31.6) 42. 84 42. 82 1.50| /hEF
4,200 H =k CAHE
) e BRI AK | A NS vE K 31.800 ~ 31.900 100 (31.8) 43. 14 42. 84 1.50| /hEF (31. 8k+40m)
4, 200
I e 2 ok - S| A [Ins Rl 31.900 ~ 32.000 100 (32.0) 43. 14 43.07 1.50| /hEF
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3, 800
)l Aok Gk | A I S 31.900 ~ 32.700 800 (32.2) 43.15 43.15 1.50| /hEF
3, 800
) |2 ok Gik) | B | INE T & 32.100 ~ 32.300 200 (32.2) 43.15 43. 33 1.50| /hEF
3, 800
e 2 ok Qi) | A DI RERS 32.500 ~ 33.300[ 800 (32.8) 43.91 43. 50 1.50] /Dy |SEIRIXH
3, 800
el [ Rk Gk | B R FREEr 32.700 ~ 33.700| 1,000 (33.2) 44.33 44. 87 1.50| /hE§
3, 800
) 2R BAIEA | A Dins iR 32.800 ~ 32.900 100 (32.8) 43.91 43. 50 1.50| /hEy [BESRTHE (32.8k)
3, 800
) 2ok Qi) | B DinEdidkEr 33.300 ~ 34.300| 1,000 (33.8) 45. 38 46. 10 1.50] /pEp [EEE X
3, 800
M AR ok Gak) | A Dinsd e 33.700 ~ 35.300| 1,600 (34.4) 46. 75 46. 37 1.50] /pEpP [EEE X
fEE s INE M ALE 3, 800 ZE5 1 46.10
| — TAEW B [A5)F : i TrREE 33. 800 (33.8) 45, 38|44 : 45.33 1.50] /B [EEFRAE (S32)
e L MBI 3, 800 JES ¢ 49. 43
i) — T e B | I B 34. 600 (34. 6) A7. 07|45/ : 46. 28 1.50| /hEp [ R4S (R2)
3, 800 H =k CAHE
) e 2K | A DinsdiZm 35.200 ~ 35.300 100 (35.2) 48. 40 52. 03 1.50 /B (35. 2k+90m)
3, 800
) e ok k) | A DIt m 35.300 ~ 36.100 800 (35. 6) 50. 04 48. 80 1.50] /pEp  [HEEE X
3, 800
) AR ok Gk | B [insd s 35.500 ~ 36.100 600 (35.8) 50. 26 50. 96 1.50] /pEp [HEEE X
3, 800
M AR ok Gk | A Dinsd s 36.100 ~ 36.300 200 (36. 2) 51. 50 50. 03 1.50] /pEpP [HEEE X
3, 800
N B ek Gk | B | vE G AR I BT 36.300 ~ 36.400 100 (36. 4) 51.73 52. 04 1.50] /by |SEIRIXH
3, 800
M e ok Gak) | B[ PE R AR 36.300 ~ 36.400 100 (36. 4) 51.73 51. 86 1.50] /hEp  |SEIRIXH
950
WS ARk Gk | A DinsEive & 0.000 ~ 0.300] 300 (0.0) 33.13 29. 86 1.00| /hEp  |EdiaA. EIRXE
950
WS A KE - Pedm] A NS e i 0.400 ~ 0.500] 100 0. 4) 33. 62 34. 80 1.00| /hEF




